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1)

In the context of physical development, children acquire before achieving the capacity
fo use X

(1) gross motor skills; fine muscles

(2) fine motor skills; gross muscles

(3) language; analytical reasoning

(4) analytical reasoning; language
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[Question ID = 1][Question Description = S1_CDP_Q001]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]
2)
Contemporary theories of child development view children as :
(1) blank slate who can be totally molded as per the environment.
(2) active purposeful beings who contribute substantially to their own development.
(3) having an innate plan for orderly growth that cannot be changed.
(

4) genetically programmed beings who cannot do anything to alter their own course of
development.
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3 Which of the following statement is correct in the context of development ?

(1) Development depends only on environmental factors.

(2) Development depends only on the heredity factors.

(3) Development is a temporary change of short duration.

(4) Development continues in a holistic and systematic manner.
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[Question ID = 3][Question Description = S1_CDP_Q003]
1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4 The ability to form and use symbols is a major accomplishment of

(1) sensori motor stage

(2) pre-operational stage

(3) concrete operational stage
(4) formal operational stage
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[Question ID = 4][Question Description = S1_CDP_Q004]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

5)

In Piaget’s theory, what process describes an infant’s action when she changes the way she holds
her hand as she reaches for round objects as oppossed to square ones ?

(1) Accommodation

(2) Conditioning
(3) Inter-subjectivity
(4) Schemas
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[Question ID = 5][Question Description = S1_CDP_Q005]
1. 1 [Option ID = 17]

2. 2 [Option ID = 18]

3. 3 [Option ID = 19]

4. 4 [Option ID = 20]

6)

According to Lawrence Kohlberg, at which stage does satisfaction of personal needs determines
moral choice ?

(1) Instrumental purpose orientation

) Punishment and obedience orientation
) Universal ethical principles orientation
) Good boy-good girl orientation
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2. 2 [Option ID = 22]

3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7)
Lev Vygotsky proposed that children should be provided to facilitate learning.
(1) negative feedback

(2) rewards
(3) scaffolding
(4) positive reinforcement
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[Question ID = 7][Question Description = S1_CDP_Q007]



1 [Option ID = 25]
2 [Option ID = 26]
3 [Option ID = 27]
. 4 [Option ID = 28]

AW N 2

® Lev Vygotsky proposed that thinking :
(1) is co-constructed during shared activities between the child and another person.
(2) takes place outside of the child’s context.
(3) happens when stimulus and responses get paired together.
(4) is not related to development of language.
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[Question ID = 8][Question Description = S1_CDP_Q008]

1. 1 [Option ID = 29]

2. 2 [Option ID = 30]

3. 3 [Option ID = 31]

4. 4 [Option ID = 32]

9)
Ina classroom the child is an active participant in the learning process and learns as
per her own pace, needs and capacities.
(1) progressive

(2) teacher-centered

(3) behaviouristic

(4) textbook-centric
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[Question ID = 9][Question Description = S1_CDP_Q009]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

19 According to the theory of ‘Multiple Intelligence’ every individual has :
(1) a set of general abilities.
(2) a fixed IQ determined at the time of birth.
(3) different cognitive abilities in different amounts.
(4) five types of cognitive abilities.
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2. 2 [Option ID = 38]

3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11)

Children’s “private speech’ play an important role in cognitive development because it helps in
guiding & regulating self thinking. This concept is supported by :

(1) Noam Chomsky

(2) Jean Piaget
(3) Jerome Bruner
(4) Lev Vygotsky
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[Question ID = 11][Question Description = S1_CDP_Q011]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12)

The following is an effective strategy in reducing children’s gender-stereotyping and gender-role
conformity :

(1) Gender-segregated seating arrangement.

)  Focusing upon gender specific roles.

) Gender-segregated play groups.

)  Discussion about gender biases.
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2. 2 [Option ID = 46]

3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13) In order to make teaching and learning effective for every child, the teachers should :

(1) use multiple strategies to engage children.

(2) ignore and disregard individual differences.
(3) be absolutely rigid in her assessment methods.
(4) Follow uniform and structured curriculum.
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2. 2 [Option ID = 50]

3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14)

Assertion (A) : In a socio-constructivist classroom recall based written tests should be the
only basis of assessment.

Reason (R) : Children learn most effectively by rote memorisation.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

( Both (A) and (R) are true but (R) is not the correct explanation of (A).

( (A) is true but (R) is false.

( Both (A) and (R) are false.
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2 [Option ID = 54]

3 [Option ID = 55]
4 [Option ID = 56]
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15)

Assertion (A) : Inclusive education refers to an education system that accommodates all
children regardless of their physical, intellectual, social, emotional, linguistic
or other conditions.

Reason (R) : Inclusion is not confined to the “disabled” but is a broader term.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.
(4) Both (A) and (R) are false.
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16} Tn an elementary classroom, how should teacher view diversity ?

(1) As a barrier to learning

(2) Ignore diversity

(3) Minimize diversity and promote standardised curriculum
(4) As an asset since it promotes heterogeneity
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2. 2 [Option ID = 62]

3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17)
Karthik a fifth standard child has persistent difficulty in verbal and non-verbal communication
with his friends and teachers. These could be primary characteristics of :

(1) Dysgraphia

(2) Dpyscalculia
(3) Autism
(4) Dyslexia
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[Question ID = 17][Question Description = S1_CDP_Q017]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18)



Which of the following are effective accommodations in the classroom environment as per the
needs of students with visual challenge ?

(i)  Eliminate unnecessary obstacles from classroom

(ii) Use a variety of visual presentations

(i) Give a lot of handouts having mind-maps

(iv) Provide recorded materials to supplement classroom teaching

(1) (i), ()

(2) (), (1), ()
(3) () ()

(4) () (i), (i), (iv)
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[Question ID = 18][Question Description = S1_CDP_Q018]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

%) An identifying characteristic of creativity is :
(1) Divergent thinking - the ability to propose many different ideas or answers
(2) Convergent thinking - the ability to focus on one answer
(3) Ability of passive imitation
(4) Skill to rote memorise long passages
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[Question ID = 19][Question Description = S1_CDP_Q019]

1. 1 [Option ID = 73]

2. 2 [Option ID = 74]

3. 3 [Option ID = 75]
4. 4 [Option ID = 76]



20) If a teacher wants to assess creativity of students, she should avoid :

(1) focusing on process rather than product.

(2) comparing the students with each other.

(3) comparing the students with their previous performance.
(4) giving opportunity for self assessment.
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[Question ID = 20][Question Description = S1_CDP_Q020]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21 Learning :
(1) 1is a passive process.
2) is influenced by personal factors.

(
(3) occurs independent of socio-cultural context.
(4) is a process of only recall and reproduction of information.
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[Question ID = 21][Question Description = S1_CDP_Q021]
1. 1 [Option ID = 81]

2. 2 [Option ID = 82]

3. 3 [Option ID = 83]

4. 4 [Option ID = 84]

22)

Students with which of the following belief will be encouraged to learn and have a better
performance in class ?

(1) One cannot change one’s inborn abilities at all.

(2) Effort can influence one’s learning and performance.

(3) Getting good marks is a matter of huck.

(4) One who has not succeeded previously, will not succeed in future as well.
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2. 2 [Option ID = 86]

3. 3 [Option ID = 87]
4. 4 [Option ID =88]

23) Teachers can encourage students to become mastery-oriented learners by :
(1) overemphasising scoring high marks.

(2) encouraging children to win all competitions.
(3) inculcating love and joy in the process of learning.
(4) inculcating fear and stress to avoid failure.
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2. 2 [Option ID = 90]

3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24) Which of the following strategies will help students to learn meaningfully ?
(1) Relating the knowledge with their everyday life.

(2) Focussing only on teaching for students to get good marks.
(3) Stressing on repetitive drill and practice.
(4) Remembering lots of information at the same time.
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2. 2 [Option ID = 94]

3. 3 [Option ID = 95]
4. 4 [Option ID = 96]



29 In a socio-constructivist classroom, learning promotes :
(i) metacognitive abilities

(i) self-regulation

(iii) critical thinking

(iv) problem-solving

(v) meaningless drill and rehearsal
(1) (i), (iv)

(2) (i), (i), (v)

(3) (1), (@), (id), (iv)

(4) (@) @), @), @v), (v)

T gifSer TEAEE] wE H HieE] faee) dediied sk T s & 2

() SARETAAE B
(i) wF-FEF@

(iii) Tae=Teas HE

(iv) HTE HHREE

(v) 21fE AuE 9 SE
(1) (i), (iv)

(2) (), (i), (iv)

(3) (i) (i), (ii1), (iv)

(4) (i), (i), (i), (iv), (v)

[Question ID = 25][Question Description = S1_CDP_Q025]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]

26)  Alternative conceptions of concepts among students :
(1) are indicative of the naive’ theories that students construct.
(2) should be discouraged through use of punishment.
(3) are meaningless in the process of learning,
(4) should be ignored by the teacher while teaching.
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[Question ID = 26][Question Description = S1_CDP_Q026]
1. 1 [Option ID = 101]



2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27) Children learn by :
(i) experimentation and exploration

(i) listening and talking
(i) discussing and reflecting
(iv) making and doing things
(1)  (3), (), (iid), (iv)
(2) (1), (1), (iid)
(3) (i) @ii), (iv)
(4) (i), (i), (iv)
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(1) @), (i), (i), (iv)
(2) (i), (ii), (i)
(3) (1), (1), @v)
(4) (iD), (iil), (iv)

[Question ID = 27][Question Description = S1_CDP_Q027]
1. 1 [Option ID = 105]
2. 2 [Option ID = 106]
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28)

The most motivating and meaningful learning tasks for diverse students in a middle classroom are
those that are :

(1) not challenging at all.

(2) moderately challenging.
(3) extremely challenging.
(4) repetitive and boring.
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[Question ID = 28][Question Description = S1_CDP_Q028]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29 For learning to be meaningful it should be associated with :

(1) discipline and distress.
(2) fear and punishment.

(3) enjoyment and satisfaction.
(4) achievement and competition.
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[Question ID = 29][Question Description = S1_CDP_Q029]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]
30)
Assertion (A) : A teacher gives a lot of project work and encourages children to work
collaboratively.
Reason (R) : Children learn a lot through discussion with peers.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) 1s false.
(4) Both (A) and (R) are false.
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[Question ID = 30][Question Description = S1_CDP_Q030]

1. 1 [Option ID = 117]
2. 2 [Option ID = 118]




3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- SS_P2_CTET

1)
are grand, long compositions about heroic men and women, and include
stories about Gods.

(1) Historical texts

(2) Epics
(3) Narratives
(4) Bibliographies
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[Question ID = 91][Question Description = S1_Social Science_Q031]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]
3. 3 [Option ID = 363]
4. 4 [Option ID = 364]
2)
Consider the following statements :
Statement -1 :
A new form of Buddhism developed during the rule of King Kanishka.
Statement -~ 11 ;

Mahayana Buddhism had two distinct features; Buddha's presence was depicted through
signs and the belief in Bodhisattvas.

Options :

(1) Both (I) and (II) are true and (II) is linked to (I).

2) (1) is false but (II) is true.

3) Both (I) and (II) are true but (II) is not linked to (I).

(
(
(4) (I) is true but (II) is false.
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(3) AT (1) SR (I1) SHI T § T wAT (1), |_YA (1) & Helfog 71 T
(4) TRA (1) TE T T R (II) T ¢
1[.Q:.n[e;:;it<i)0r:] I|[|; ==3‘2§]][Question Description = S1_Social Science_Q032]
2. 2 [Option ID = 366]

3. 3 [Option ID = 367]
4. 4 [Option ID = 368]

3

éﬁonsider the following statements :

Statement - I :

The best known of the rulers who controlled the silk route were the Kushanas.
Statement - 1I :

Kushanas ruled over Central Asia and North West India and were earliest rulers to issue
gold coins which were used by traders.

Options :

(1) Both (I) and (II) are true but (II) is not correct explanation of (I).
(2) (1) is true but (II) is false.

(3) Both (I) and (II) are true and (II) is correct explanation of (I).
(4) (I) is false but (II) is true.



frfafad semAl o foam & :
HUA (1) :
e w2 W 40 T@q gt e § 999 9ies e g
heH (ID) :
FOTU 7 TeA- TR 997 ufteHel YR I A f e 3 e ugel 9 o fages St #e A
e A TSieRT 3TERT =i | fean
famea .
(1) @I (1) 3R (1) S 9&t & wog SR (I1), e (1) &1 Hel e 98 & |
(2) YT (I) TE B 70 ®wYT (1) T ©
(3) wIF (1) 3iR (1) S WEt 9w weF (1), /YA (1) it TS ST B |
(4) TR (1) TEA & T weA (1) FE T
1[.Q:.n[e;:;it<i)0r:] Ilg ==3‘ZZ;]][Question Description = S1_Social Science_Q033]
2. 2 [Option ID = 370]

3. 3 [Option ID = 371]
4. 4 [Option ID = 372]

4 Consider the following statements on kings.
Statement - I :
Kings in every dynasty wanted to emphasise it their moral right to be rulers.
Statement - II :
Kings constructed places of worship to proclaim their close relationship to God.
Options :
(1) Statement (I) is true but (II) is false.
(2) Both statements (I) and (II) are true and (I) is an explanation for (II).
(3) Statement (I) is false but (II) is true.
(4) Both statements (I) and (II) are true but (I) is not an explanation for (II).

Freferfad oAl w1 Tsnedl @ omaR 9T fa=m #i

HIT (1) :

T TSTE9 & TSl IIHE 8H % 794 AT aafersr ® =it <1 =9 9|

wHA 11 :

YR o 1Y 31 =SS TaY i ITEWN 3 o forw Tenedi 3 U & i s e feran
fawea :

(1) YA (1) ¥t 2 93 (I1) T €

(2) AT (1) S (1) ST | E, a1 (1), (1) 1 =re §

(3) M (I) TTerd & U (1) Wl 2

(4)  W|IT (1) 3 (1) SH | &, 97 (1), (1) 1 = 78 2



[Question ID = 94][Question Description = S1_Social Science_Q034]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]
3. 3 [Option ID = 375]
4. 4 [Option ID = 376]

) Match the places and/or communities to their crafts.

(A) Bidar (1) Iron work
(B) Surat (II) Weaving
(C) Panchalas (IIT) Textile with gold lace borders
(D) Saliyar (IV) Inlay work in silver and copper
Options
(1) (A)-AV), (B)-(), (O)I), (D)-(ID)
(2)  (A)-IV), (B)-(I0), (©)-(D), (D)-(II)
(3)  (A)-(D), (B)-(1D), (O)-IV), (D)-(II)
(4)  (A)-IV), (B)-(I1D), (O)-I), (D)-(II
SITel Sf/sTerEn HYEE 1 S fOTed-hell % 1Y gH Fife
(A) @iet () s - Hafud wE/eRt
(B) T () e
(C) U= (IT) &L Te-Taaiei (s/) ara ae
(D) wferER (IV) i den =iiat | SIS =1 HH
formen
(1 (A)-IV), B)-[), (O)-(1I), (D)-(I)
(2)  (A)-AV), (B)-(I), () (I) (D)-(I)
(3) (A, (B)-(I), (O)-IV), (D)-(I1)
(4 (A)-IV), B)-(D), (CO)- () (D)-(H)

[Question ID = 95][Question Description = S1_Social Science_Q035]
1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3. 3 [Option ID = 379]
4. 4 [Option ID = 380]

6)



Consider the following statements :

Statement - 1 :

In his inscriptions Ashoka suggested that rituals are not useful.
Statement - II :

People in Mauryan empire followed different religions and this sometimes led to conflict
and animal sacrifice.

Options :

(1) 1is false and II is true.

2) Ilis false and 1 is true.

3) Both I and II are true but Il is not a cause for L
)

4 Both I and II are true and 11 is a cause of L

(
(2
(
Frfafad sl o foam &l
HYA - (1) :
39 9 9 SfeiEl 9 98 g fomn {6 wHeie fodl wm % 6 )
HYA - 11 :
HiE 99 % WHET H AR Tt gl o1 SE G 9 991 98 HHI-kYl fae @ uy) afd %
g STl T |
ferenea
(1) (1) 7eTd & wa (I1) %@ € |
(2) (1) 7TeTd € T (1) W g
(3) (1) 3 (1) S W& § 9 (1), (1) % fore e =2 8
(4) (1) 3R (10) S W& E T2 (1), (1) 1 FHRO
1FQ:lf;;it?or:1 Ilg ==3‘:361.]][Question Description = S1_Social Science_Q036]
2. 2 [Option ID = 382]

3. 3 [Option ID = 383]
4. 4 [Option ID = 384]

7} Match the term with its corresponding role in the villages in North India.
(A) Grama Bhojaka ()  Work on other’s fields

(B) Grihapati ) Craftspersons
I

(

(C) Dasa Karmakara (IIT) Independent farmers
(IV) Village headman

Options :

(1)  (A)-AV), (B)-(I), (C)-(I)

(2)  (A)-(D). (B)-(1D), (C)-(I)

(3)  (A)-@V), B)-1I), (O-T)

(4) (A1), (B)}-IV), (O-D)



frefarfad w=sl 1 3w 9d & el § ST ey ufte % @i fgem #ifs

(A) T YIS () T SHIT T HHE HE Gl
(B) Trgdfd () feregsri
(C) <9 HHHN (I) =S FUH
(IV) - (am 994)
faereT :
(1)  (A)-(V), (B)-(ID), (C)-(I)
(2) (A)- (H): (B)-(111), (C)-(L)
(3 (A)-AV), (B)-(1), (C)-(D)
(4) (A)()()(W (©-(1)

[Question ID = 97][Question Description = S1_Social Science_Q037]

1. 1 [Option ID = 385]

2. 2 [Option ID = 386]

3. 3 [Option ID = 387]

4. 4 [Option ID = 388]

8)

Consider the following statements A and B :
Statement A :

The Ryotwari system of revenues built a direct relationship with the cultivators and tillers.
Statement B :

The Ryotwari system emphasised the extraction of revenue through the viJlage headman.
Choose the correct option:

(1)  (A) is true, (B) is false.

(2) (A) is false, (B) is true.
(3) Both (A) and (B) are true.
(4) Both (A) and (B) are false.

fr=fafaa wem - (A) 3R (B) T fa=m #Fifs .
HAT - (A) : ST i e =ae J fegml (o) IR Sfaet Fel F &g @i @9y
e feran |
HAT - (B) : TIATERT S 3 U Y@ o "I § e i S W g 53
W& faehed ol =59 HifT
(1) (A)®& Z, (B)Tad 2
(2) (A)7Ed €, (B) Wél 21
(3) (A) R (B) I T T
(4) (A) 3 (B) i T §1
1FQ:J?;;it?or:‘ Ilg :3‘3;;;[Question Description = S1_Social Science_Q038]
2. 2 [Option ID = 390]

3. 3 [Option ID = 391]
4. 4 [Option ID = 392]



%) Match the following social reformers with their work.

(A) Jyoti Rao Phule (I)  started schools for girls in Patna and Calcutta.
(B) Begum Rokeya Sakhawat (II) founded widow’s home in Poona.
(C) Tarabai Shinde (IIT) opened schools for girls in Maharashtra.
(D) Pandita Ramabai (IV) wrote “Stripurushtulna”.
Options :
(1) (A)-@). (B)-(AV), (O)-(1D), (D)-(I1)
(2)  (A)-(D), (B)-(@), (O)-(IV), (D)-(I)
(3)  (A)-I0), (B)-(I), (C)-(1), (D}-(IV)
(4)  (A)-IV), (B)-(11), (C)-(II), (D)-(I)
frefafad wmarfsier Gamehl sl 39 sd & 919 A HIfa :
(A) “Hfara Fel () 9= 3R weeha § Al & fon e g |
(B) S ®ehAT HiEEd () Y1 ¥ faeEmE sl =9 &1 |
(C) dREE fig (IIl) WERTE ¥ @efeal & fon @ @t |
(D) fedr TmEE (IV) Sirgevger fem |
ferepea
(1) (A)-), (B}-1V), (O)-(I), (D)-(I)
(2 (A)-I), (B)-0), (©)-1V), (D)-(I)
(3)  (A)- (H) (B) (L), (©)-(D), (D)-(1V)
4 (A)-IV), B)-I), ©)-ID), (D)-0)

[Question ID = 99][Question Description = S1_Social Science_Q039]
1. 1 [Option ID = 393]
2. 2 [Option ID = 394]
3. 3 [Option ID = 395]
4. 4 [Option ID = 396]

10)
If Ved Samaj condemned the superstitions of orthodox Hinduism, Prathana Samaj sought

(1) removal of caste restrictions

(2) freedom of thought

(3) introduction of Western Science to Muslims
(4) permission for child marriage



SR ¢ 99191 A wigarel féga & sufavardi 1 v a1 &1 d e |ars 4 PR

feram

(1) S seE! % 39eH & fou

(2) fo=mf =t wda % o

(3) HEeHEl =i ufvEdt foamm | uftfEd s for
(4) et faame i eEla & fag

[Question ID = 100][Question Description = S1_Social Science_Q040]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

11)

Which of the following statements is true in case of social reform and caste abolition ?
(A) Rammohun Roy wrote pamphlets written as a dialogue to spread his ideas.

(B) Singh Sabha leaders promoted modern education and Sikh teachings.

(C) Periyar’'s teachings promoted the idea of equality through religion.

Choose thé correct option.

(1) Only (A) and (B)
(2) Only (B) and (C)
3) Only (A) and (C)
(4) (A), (B) and (O)

fefafan o & s ¥ o g gur @it Sg s99e & gedl o wd ¥
(A) TTHIEA U9 1 oA fa=rl % 99R & foe o< fad =i Hae & s § 9

(B) &g wwn & Fanedi 7 snyfrer faan i faa fagdl =1 dieames fman
(C) UNER = forgor H HoEar &1 9= 96 & =ieas | gredifed o @)
HE fawey 1 =9+
(1) 9@ (A) 3R (B)
(2) 9 (B) 3R (C)
(3) AT (A) AR (C)
4 (A), B) A ©

[Question ID = 101][Question Description = S1_Social Science_Q041]
1. 1 [Option ID = 401]
2. 2 [Option ID = 402]
3. 3 [Option ID = 403]
4. 4 [Option ID = 404]

12)



Arrange the following statements from earliest to recent, to reflect the emergence of
Nationalism :

(A) Rise of consciousness that Indian people should be sovereign.

(B) Withdrawal of Ilbert Bill.

(C) Formation of Indian National Congress.

(D) Enactment of Vernacular Press Act.

ZaTE 3 32 = widtsted 1 & fou Frefafan # wities § a0 w9 ¥ e
(A) AT S = HHY B =1eY, I8 =1 Sd & |
(B) Toae faet &l amad &l

(1) (©), (B), (A) ¥R (D)
(2 (B). (A), (D) R (O
3 (A), (D), (B) 3R (O)
(4 (D), (C), (A) ¥R (B)

[Question ID = 102][Question Description = S1_Social Science_Q042]
1. 1 [Option ID = 405]
2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]

13) The moderate leaders of the National Movement

(1)  felt British had no respect for the ideas of freedom when it came to Indians’ just

demands.
(2) emphasized self reliance and constructive work.
(3) politics of prayers had failed.
(4) mobilised public opinion against the economic ruin of the country.



U SieieH ® TR Aasi

(1) = &Tan o1 fo STt Todan & STEwl ol e 78 78] ohid Se RETE] ol =AETd H i
oA ST 2 |

(2) A ercafiar qen TEATeTss S T st T |

(3) I fEEA =t e fawe @

(4) ¥ 29 i i deEl o foaes SEd i fan

[Question ID = 103][Question Description = S1_Social Science_Q043]
1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]

14

C)onsider the following statements :

Statement - 1 :

Second five year plan was formulated in 1954.
Statement - II :

Second five year plan focused on development of heavy industries under the control of
private players.

Options :

(1) Both (I) and (II) are true.
(2) Both (I) and (II) are false.
(3)  (I) is true but (II) is false.
(4) (I) is false but (II) is true.

fFrfafed warl w fa=r +:i -

HIA - (1) :

1954 H gE d=Edi A daR i |

YA - (1)

<l gt A § feft et & e § ol see F fawrm o ee fea mn
faerea :

(1) (1) 2 () S T

(2) (1) &R (ID) S e &

(3) (1) W& & 9 (10) 7o &

(4) (1) 7Te ¥ U (1) W ®

[Question ID = 104][Question Description = S1_Social Science_Q044]
1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3. 3 [Option ID = 415]
4. 4 [Option ID = 416]

15)



Consider the following statements regarding Solar System.
(A) Inner planets are made of gases and liquids whereas outer planets are made of rocks.

(B) Outer planets are bigger in size as compared to inner planets and some of the outer
planets have rings around them.

Choose the correct option.

(1) Both (A) and (B) are true.
(2) Both (A) and (B) are false.
(3) (A) is true but (B) is false.
(4) (A) is false but (B) is true.

g Hew o an ¥ fzu v frefated weE w® e e

(A) =7iafe a8 79 iR et ggiel 9 59 21 € Srefes ol 78 92 4 s B

(B) TRl U SAqfish Tl ! G § 98 AN & 21 & IR o =1 T8 F 91 3 ool §
el faered = |

(1) (A) 3R (B) 2F ¥l 8|

(2) (A) 3R (B) S TR
(3) (A) TEl & e (B) TTeTd & |
(4) (A) 7o ¥ Sifeh (B) W&l 81

[Question ID = 105][Question Description = S1_Social Science_Q045]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]
3. 3 [Option ID = 419]
4. 4 [Option ID = 420]

16) Which of the following are Antarctic Substations of India ?
(A) Maitri
(B) Dakshin Gangotri
(C) Bharti
(D) Aditi
Options :
(1) (A) and (D) only.

(2) (B) and (C) only.
(3) (A), (B) and (C) only.
(4)  (B), (O) and (D) only.



7 § & % ¥ sfeehfesd d YRT  FaevH 2 7

(A) I

(B)  =fayor TS
(C) et
(D) #fefa
faereT :

(1) e (A) 3R (D)

(2) I (B) ¥R (O)

(3) = (A), (B) &R (C)

(4) Ed (B), (C) SR (D)

1[Q1u¢[a;:)|tc])or:‘ |I|; =412 (13]6][Question Description = $1_Social Science_Q046]
2. 2 [Option ID = 422]

3. 3 [Option ID = 423]
4. 4 [Option ID = 424]

17)

Tropic of Cancer, Equator and Tropic of Capricorn do not pass through which of the
following continent/s ?

(1) North America and Antarctica
2) Australia and Antarctica

3) Europe and Antarctica

) Only Antarctica

eh @, fayad Y@ 3R 9ot frefafea 5 8 e weg/mesEel | T8 e €2
(1) T FAHRH AR FHeTehiH

(2) smEfamn iR sferhfea

(3) FY R ki

(4) HeEe FerhfeR

[Question ID = 107][Question Description = S1_Social Science_Q047]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]
18)
The longitude of 82 ¥2° E is treated as the standard meridian for India. It passes through
which of the following region ?
(1) Great Indian Desert
) Western Ghats
) Sunderban Delta
)

Eastern Ghats

SR S

(
(
(

.



A H 82 14° 1, Tl 9 AR 5 T 7 | 98 v frefafed § 9 B a9 9 S e €
(1) ARG FRTHEEde

(2) e =E

(3) Y=ET S

(4) et =

[Question ID = 108][Question Description = S1_Social Science_Q048]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

19

V’:thfh type of vegetation occur in the Western Ghats ?

(I) Tropical rain forest on the Western slopes and thorny bushes on the Eastern slopes.
(2) Thorny bushes on the Western slopes and tropical rain forest on the Eastern slopes.
(3) Tropical rain forest on the both slopes.

(4) Thorny bushes on the both slopes.

gfegdt == § frg @ ot gl o S € 2
(1) feeet g e wfessdg aui 57 9o ot e w i mfet
(2) fea grel W e gnfedl qun gat el 9 I Efest aut g
(3) Bl Bl T 30T HfcHH Fui 99
(4) i el WSt sfear

1[Q1u¢[aé,titc_>n |I|; =413 g;?][Question Description = S1_Social Science_Q049]

2. 2 [Option ID = 434]

3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

20)

Cave painting in Sahara desert depicts rivers and different kinds of animals. It shows
that :

(1) People of Sahara had been highly imaginative.

) People of Sahara had travelled across the world.
) Climatic change occurred in the Saharan area.
)

(SR S

(
(
(

i

Foreigners were staying in Sahara.

Terl HEee % T T | AfeEi iR fafvs yen & el =1 fommn ¥ ge gl @
(1) HEW % S 95 Hedmid 9 |

(2) HER = @ g H g U |

(3) HEWI % &5 § Setarg qiiady g3i o

(4) ol wem & &9 H w9

[Question ID = 110][Question Description = S1_Social Science_Q050]



1 [Option ID = 437]
2 [Option ID = 438]
3 [Option ID = 439]
4 [Option ID = 440]

AW N

21) Assertion (A) : Short stunted trees and grasses form the grasslands.

Reason (R) : Amount of moisture regulates the sizes of trees and their density.
Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3)  (A)is true but (R) is false.

(4) Both (A) and (R) are false.

FHUA - (A) : DI SMFR T I& IR =, =G-Treit 1 Fmmn 39 £
THIOT - (R) : ST sl A gail o SR i 39 99 &l gefad &l € |
we faey 94 |
(1) (A) 3R (R) SHT W&l & 3R (R) W& =9ren &3l € (A) #i |
(2) (A) 3 (R) SFT W&l & e (R) WET =ame =i & (A) &
(3) (A) ®El € wIfeA (R) e B
(4)  (A) 3R (R) HI T €1
1[Q:J¢[acs);it?0r:] |Ig =414 : ]1][Question Description = S1_Social Science_Q051]
2. 2 [Option ID - 442]

3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

22) Which of the following is a permanent wind ?
(1) Easterlies and Monsoon winds
2) Loo and Monsoon winds

(2
(3) Sea breeze and Westerlies
(4)

4 Trade winds and Westerlies

frefafead § @ @ o T g €2
(1) gt 9a At 9ee

(2) @ SR AR v

(3) HgEr g oI ufvadr qad
(4) =fies vae oiR ufyet e

[Question ID = 112][Question Description = S1_Social Science_Q052]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]

23)



Consider the following statements (A) and (B) about the winds :

(A) The wind blows from high pressure to low pressure.

(B) Rotation of the earth is also one of the factor which affects the direction of the winds.
Choose the correct option.

(1) Both (A) and (B) are true and (B) is the correct explanation of (A).

(2) Both (A) and (B) are true but (B) is not the correct explanation of (A).

(3) (A)is true but (B) is false.

(4)  (A) is false but (B) is true.

TaHl & o H fgu e e € et (A) SR (B) W eEH €
(A) e 3= gE 9§ 7 T Y iR et €1

(B) wal =t fegn fasfor & geaht @1 o 1 WX gEAT off U FRE 6 w9 § g9ifEd S g
e Tashey =1 T RISy :

(1) <HT (A) 991 (B) TET € 991 (B), (A) &1 &l =41 |

(2) =T (A) @ (B) WET € TR (B), (A) 1 HE =mE & 7
(3) (A) Tl © g (B) o B |

(4  (A) T &, T (B) TR €

[Question ID = 113][Question Description = S1_Social Science_Q053]

1. 1 [Option ID = 449]

2. 2 [Option ID = 450]

3. 3 [Option ID = 451]

4. 4 [Option ID = 452]

24) Read the following statements (A) and (B) :
(A) Due to varied climatic conditions, India has a wide range of natural vegetation.
(B) Natural vegetation of any area is dependent only on rainfall in that area.
Choose the correct option.
(1) Only (A) is true.
(2) Only (B) is true.

(3) Both (A) and (B) are true.

(4) Neither (A) is true nor (B).



frfafas e (A) 921 (B) &1 98 :

(A) Tafvm Seramafas smell & o R § wpfas awafadl § s e o s &
(B) o=t & fovim =1 wisfaes aweafa haet @&l ™ &9 arel 991 | fsk et 81

el faswey 1 =2A #ifeg )

(1) ad (A) T& T

(2) 9 (B) TEl T

(3) oI (A) 91 (B) WEl ¥

(4) A d(A) T TG (B) TR €I

[Question ID = 114][Question Description = S1_Social Science_Q054]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]

25) Prince Charles mountains, which is associated with iron ore is located in :
(1) Australia

(2) Antarctica
(3) North America
(4) South America

e 3795 9 g 99 Ted vaq safem 8 -

(1) sfiegfeaan §

(2) ierhfes
(3) I sfem H
(4) =feor sfR |

[Question ID = 115][Question Description = S1_Social Science_Q055]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]

26) Which of the given factors can change any substance into resource ?
(A) Time
(B) Technology
(C) Need
Options :
(1)  (A) and (B) only.
(2) (B) and (C) only.
(3)  (A) and (C) only.
(4) (A), (B)and (O)



feu 0 wH 9w fedt of verd = gErE § viefdd w5 g9 £

(A) wmF

(B) reifieht

(C) &

faeeu;

(1) e (A) 3T (B)
(2) e (B) ¥R (O)
(3) e (A) ¥R (O)

@ (A), (B) 3R Q)
[Question ID = 116][Question Description = S1_Social Science_Q056]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]
27) Which of the following plantations are found in the tropical regions of the world ?
(A) Rubber in Malaysia
(B) Coffee in Brazil
(C) Tea in India
(D) Maize in Canada

Options :

(1) Only (A) and (C)

(2 Only (A), (B) and (C)
(3)  Only (A), ( ) and (D)
(4)  Only (B), (C) and (D)

frefafaa # o =H 9t Tu wfu fove & 3o wfesd geei § g s €2
(A) TEIREn H wE

(C) ¥a ¥ =™
(D) TSl | HaehT

fererey

(4) WEd (B), (C) 3R (D)

[Question ID = 117][Question Description = S1_Social Science_Q057]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]



4. 4 [Option ID = 468]

28) Dr. Bhim Rao Ambedkar converted to which religion in search of equality ?
(1) Jainism

(2) Christianity
(3) Buddhism
(4) Islam

HHFA i @i H 1L i U Hegat | o giEdd w fohg oH & a7 ?

(1) S o
(2) ZHE ©H
(3) @iz yd
(4 FT=H

[Question ID = 118][Question Description = S1_Social Science_Q058]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]
29)
Which among the following is NOT a valid example of diversity ?
(I) A village has members of different communities who practice different religion.
(2) Avillage has people belonging to different castes who are seen in hierarchical manner.
(3) A village has a public place where different festivals are celebrated.
(

4)  Avillage has many people who speak Hindi and some also speak English and they
often engage in common conversation.

Freferfaa & & = fafasra &1 o Sy S 98 &2

(1) T TiE T TR 37l WS & N § S H-STer 94] 1 9ref i § |

(2) W g H TR S F A € 5 Teshiad aih | @ 5 g

(3) T TME H U HES T €A § el S-SR TIBR w1 HAA S F

(4) Wk M H o ol feed dierd # oI Fe ol e € oI 3 Te S1eRR U Siery w
2

1[Q1u<[aé.ti<_>n |Ig =417 ; ;)][Question Description = $1_Social Science_Q059]

2. 2 [Option ID = 474]

3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

30) What is the more popular name for the Council of States in India ?
(1) Sansad
(2) Lok Sabha

(3) Rajya Sabha

(4) Vidhan Sabha



FRMA A WH FT 9 | S97e) yafed 719 #491 § 2

(1) =&

(2) @ |
(3) TEF |
(4) faem @

[Question ID = 120][Question Description = S1_Social Science_Q060]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

31) The “question hour” in the Parliament ensures
(I) Executive accountability towards legislature.

(2) Judicial independence from legislature.

(3) Legislative control over judiciary.

(4) Judicial cooperation with the legislature.
Hag # gy’ gffe=a T 7

(1) wrimfas wt fgufeEr % wF SaEeE!
(2) A i faenfa=s ¥ s

(3) Taufaesr =t =rfas o2

(4) e = fasnfae % e geEn

[Question ID = 121][Question Description = S1_Social Science_Q061]
1. 1 [Option ID = 481]
2. 2 [Option ID = 482]
3. 3 [Option ID = 483]
4. 4 [Option ID = 484]
32 Which among the following is not a type of market ?
(1) Weekly Market
(2) Shopping Complex
(3)  Putting-Out System
(4) Malls

fr=fefaa § 9 o1 96k 1 T YR 8] & 2
(1) H=ifesh s

(2) I iRy
(3) =IEA =HaE
(4) e

[Question ID = 122][Question Description = S1_Social Science_Q062]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]



4. 4 [Option ID = 488]

33)

What is the disadvantage for a weaver in the “Putting-Out System” of making a living ?

(1)
(2)
(3)

(4)

Weaver is supplied the new material by the merchant.
Weaver has to bear the cost of transportation of clothes to market.

Weaver has no control over pricing of cloth in market and the merchant walks away
with the profit.

Weaver has to work from his/her home in weaving the yarn into cloth.

SHiferpTaTe o fort STaaTe 70 2EA sere’ | U S 1 o THEE el £ 7

()
(2)
(3)
(4)

TR ] AT R FH=l Hiel Y] Sl & |

FTHL T FHISI TSR T o S 1 TREE AN <1 TS & |

STSIR H U % Yod T AL & s (950 T a1 AR TR GATR SIRT T & S |
T I YA FIEHL FUE T F HH R H FEAT Gl T

[Question ID = 123][Question Description = S1_Social Science_Q063]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]

34)

Rosa Parks’ refused to give up her seat to a White man in a bus. This was the
commencement of which great movement in modern history ?

(1)

SR S

(2)
(3)
(4)

.

Civil Rights movement in United States of America.
Anti-Apartheid movement in South Africa.
French Revolution in France.

Women's Suffrage movement in England.

TS AT A 9 H Uk vod 989 o foTu 3791 e & 9§ 3R fofan | o2 smyfren sfoerd o fe 92

SR 1 YEAT o4l ?

(1) Eg& U9 AARH H1 AR AHFER e
(2) e sRRT =1 TriE faind SRR

(3)  TRIG 1 WiEEl s

(4) Fole o Aige HATHRR <

[Question ID = 124][Question Description = S1_Social Science_Q064]
1. 1 [Option ID = 493]
2. 2 [Option ID = 494]
3. 3 [Option ID = 495]
4. 4 [Option ID = 496]



35 What are Anganwadis ?
(1) Women Protection Homes
(2) Child-Care Centres
(3) Mid-Day Meal Centres
(4) Old-Age Homes

SATETS! T ?

(1) wfeeT H&w 1

(2) e

(3) Toe-—< Hid %=

(4 o5 =M

[Question ID = 125][Question Description = S1_Social Science_Q065]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]

3. 3 [Option ID = 499]
4. 4 [Option ID = 500]

36)
The Right to move courts incase a citizen’s Fundamental Rights are violated has been
established by which of the following ?

(I) Right against exploitation

(2) Right to Constitutional Remedies
(3) Right to Life
(4) Right to Personal Liberties

ot amifeer & Siifaer stfasl 1 99 81 W S9& g =Eed § 5 &1 sifusr fefafea o
| HA gifead &t g?
(1) 3 & faeg sfHsr
(2) G ITER H ATFER
(3) wier w1 SRR
(4)  SATRITE TEdsidl 1 AR
1[Q1u¢[a;ti:n |I|; =510 ?]6][Question Description = S1_Social Science_Q066]
2. 2 [Option ID = 502]

3. 3 [Option ID = 503]
4. 4 [Option ID = 504]

37)



Consider the following statements and identify the misuse of authority and power :

(A) A minister refuses to sanction a project of his ministry for sound technical reasons.

(B) A senior officer calling the police station to ask them not to register a complaint
against a relative,

(C) Falsely accusing a poor student in a class by the class monitor.

Choose the correct option.

(1)  Only (B)

2) Both (A) and (B)
3) Both (B) and (C)
)

(
(
(4) Al (A), (B) and (C)

4
=1 el W fomr Fifs 3iv et for el o ud ofem 1 Euam A W T
(A) HHT T 3 TEATHI HRON o et GRASHT 21 HL 7 &1
(B) = ARl W Yfaw WA # W #eh Reden % faens fasmd gt 7 &0 & fog
kel |
(C) el T2t R Ueh THIe 213 9L ST TRT TR |
& faereq 1 =9 Fife
(1) = (B)
(2) T (A) @ (B)
(3) T (B) @ (O)
(4) |4l (A), (B) 941 (C)
1[Q1L1¢[a;titgn |I|; =510 1;]7][Question Description = S1_Social Science_Q067]
2. 2 [Option ID = 506]

3. 3 [Option ID = 507]
4. 4 [Option ID = 508]

38)
Which among the following statements is true about Judiciary in India ?

(I) There is no hierarchy between different levels of the judiciary.
(2) The Chief Justice of a High Court is the highest judge in the country.

(3) Anappeal can be made in a High Court against a judgement passed by the Supreme
Court.

(4) Different levels of court are connected with each other through an appellate system.

9T B =t o fawg § frafafed § 9 w6 & o 5@ 2

(1) =P & fafie &R gersmita oreeen | &1 €

(2) U IH A F AR $9 F aiie =i g6 §)

(3) FoHTH A % Hoe % s UH 39 e W g sl 7 i S g ¢ |
(4) =Tt & fafim W uh-gEl | e ekl % gRI §[e gU e



[Question ID = 128][Question Description = S1_Social Science_Q068]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]
39)
Hakim Seikh and Paschim Banga Khet Mazdoor Samiti had filed a petition in the court to
ensure which of the following ?
(1) Medical Aid and health care
) Minimum wage
) Right to shelter
)

Land rights

= 2 1

(
(
(
T SrE Te ufyey & wa gege wiafa | Frefafeas § 9 w0 gen e % oo =mEes o

FifeehT S i i ?
(1) e ud wre dard

(2) ~IIH S
(3) N R SAfaRR
(4) Y =Afowr

[Question ID = 129][Question Description = S1_Social Science_Q069]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

40) Stereotyping a community often results in its
(1) development
(2)
(3) marginalisation
(4)

empowerment

diversification

forelt TEr F 9N § wfeag YRom SR SHE T HOT ST & |
(1) fasm
(2) EIfeRTeRTOl
(3) efyramER
(4) Tafasieo
[Question ID = 130][Question Description = S1_Social Science_Q070]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]

3. 3 [Option ID = 519]
4. 4 [Option ID = 520]



41) While teaching social history, teachers need to be sensitive because :
(A) the past is context based.
(B) there are multiple pasts.
(C) the past is singular and monolithic.
(D) the past is not contentions.

Choose the correct option.

(1)  Only (A)

(2) Only (A) and (B)

(3 Only (Q) |
(4)  Only (B), (C) and (D)

wifSies sfoere o e 3 v, fses % HagTeia @ =fey il
(A) sfoer dey snurfia €

(B) e Tgfer sfamma €1

(C) sfiera swEe w fafire 1

(D) sfaem faamerag 78 21

T farsheq w1 =9 & |
(1) e (A)
(2) HEE (A) 3R (B)
(3) e (C)

(4) %9 (B), (C) 3R (D)

[Question ID = 131][Question Description = S1_Social Science_Q071]

1. 1 [Option ID = 521]

2. 2 [Option ID = 522]

3. 3 [Option ID = 523]

4. 4 [Option ID = 524]

42)
What is the motive behind renaming civics as Social and Political life at upper primary
level ?

(A) Civics appeared in the Indian school curriculum in the colonial period against the
background of increasing resistance among Indians towards Raj.

(B) Social and Political Life draw its learning experiences mostly from History and
Economics.

(C) Social and Political life is based on real life situations which was practical situation
to teach concepts.

Options :

(1) Only (A) is correct.

(2) (A) and (B) are correct.

(3)  (A) and (C) are correct.

(4) (A), (B) and (C) are correct.



I WA TR I AN YT 0 QEdeh! 1 AR WIS AR TSHias siad’ & & 99
ERIRE RIS ¥

(A)  eirafrafirs e § et whelt ares=at # aiiss v # fafew vs % ofa awdri % &=

Sed gfere =i geyfd # e o e an)

(B) ‘mrifsren ofR Ustfaer e’ o79H Wi o STvEl i JEad: 3faerd SR s1ee 9§ s
L B

(C) ‘wmfsteh eI Tstifaeh sfem arsafas siree =t feafaai T smenfia & 5t g Hehean &
o sremfer feafadi =1 wam 3 21

fawea :

(1) e (A) T B

(2) (A) 3R (B) BH = T
(3) (A)3(C) §AE!
(4) (A), (B) 3R () i T ¥

[Question ID = 132][Question Description = S1_Social Science_Q072]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]

43)

Which pedagogical strategy would encourage meaning-making in learners of upper
primary stage ?

(1) Giving a lot of information by going beyond the textbook.

(2) Asking learners to explore and discuss in the classroom.
(3) Use punishment for every wrong answer.
(4)  Use uniform and standardised tests.

i Ht e writfa 3= mafaes ') & sifurmedtet § sd-freer 1 drenfed wof 2
(1) TeITE ¥ T SR Fgd Wl Go Jam |

(2) sfErTHEFAIS I e H U A Uh == A & A HE |

(3) U Teld Sk felg & 1 WA

(4) HHM U HAhIFd T g W& THw |

1FQ:J<[33Eit?or:‘ Ilg ==5122]3][Question Description = S1_Social Science_Q073]

2. 2 [Option ID = 530]

3. 3 [Option ID = 531]
4. 4 [Option ID = 532]

44)



‘Patriotism” can be best developed in history classroom by :

(1)
(2)

(3)
(4)

making it compulsory to sing the National Anthem before every class.

having activities to develop a sense of belongingness and responsibility to the nation
and its people.

praising the efforts of all the socio-religious information without subjecting them to
any enquiry.
giving lectures on golden ancient pasts without talking about the “social context’.

sfaerg =1 wen # ‘Svvfaa’ & 9w w9 9 fawiga fea s g & -

(1)
(2)

(3)
(4)

eI el TRl T 1 WA AFEE 9 % g

<Y UE g o fou Seierad us g 81 ohi 9reA1 =i faskfad w4 o fou nfafaft
BRI

goft i - enfifes Qerer 3 warEl w1 fam 379 fomm =it g S foRy gu v &)
o “arfere Hey’ sary w@fefy g sfiem W =amEm S

[Question ID = 134][Question Description = S1_Social Science_Q074]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]

45)

Which one is an example of an inclusive classroom ?

All students are taught in the same classroom and teacher uses a uniform method
for teaching and assessment of all students.

Teacher takes separate classes for special needs students.
Teacher announces a weekly test for students and gives an off to special students.
Teacher provides visually challenged students access to resources in Braille.

fr=fafag § 9 S 9aEsl 1 & SEE § 2

(1)

(2)
(3)

(4)

[eft fernfeli i1 vF & Fen § T iR A g welt % fau e gamE e fafy ei
g fafer 1 wEm &

seAgeh gr fafvre femnfei sl s1erm vam |

FeAS g faranfei] & fag |reaneeh gedich it =on e AR fafere farnfer =61 gien
% e oTae S

s g gfte At faenffai = oer fafy o fot fero grmit 1 suass w3 |

[Question ID = 135][Question Description = S1_Social Science_Q075]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

46)



Column A represents a situation ina Social -Political life classroom and Column B represents
the action taken by a teacher. Match appropriately.

A : Situation in classroom
A) No response

(

(B) Incomplete response

(C) Partially correct response
(

D) Completely correct response
Choose the correct option.

(1) (A)-10), B)-(1), (©)- (IV) (D) ~(1I)
(2 (A, (B)-IV), (O-1), (D)-I)
(3)  (A)-), (B)-(D), (C )(IH) (D)-(1V)
(4)  (A)-@V), (B)-D), (©)-(), (D)-(ID)

B : Action taken by teacher
) Seeking further information
II) Prompting
I) Refocusing
1V) Increasing critical awareness

FicTH A G o TsTifdes Siaq 1 el & ferfadi o1 euiar # 3iR Siaq B s1ea9es g 39

feerfa o forw 2 Sfem ot =01 goifan 81
A : R R Trerfaat

(A) g ufaferan =& =1 feafg

(B) QUi TaTe ki fefd

(C) dHe sard =i ferfa

(D) i 9 samE & fefa

Tl faswey 1 =71 |

1) A)-I), B)-D, (O)-IV), (D)-(I)
(2 (A)-(D), (B)-(IV), (C)-ID), (D)-(T)
(3 (A1), B)-(D), (O)-(), (D)-(IV)
(4)  (A)-IV), (B)-TI), (©)-@), (D)-()

[Question ID = 136][Question Description = S1_Social Science_Q076]

1. 1 [Option ID = 541]
2. 2 [Option ID = 542]
3. 3 [Option ID = 543]
4. 4 [Option ID = 544]

47)



An Elementary School teacher did following activities in her social science classroom :

. Discussion on how melting of sea effects animals.

. Analysis of weather changes using weather report and data of the country for last
50 years.

. Discussion on reasons for rising temperature on earth.

. Discussion on what causes Acid Rain.

Which of the following concept is she intending to cover through these activities ?
(1) Green House Effect

(2) Weather Change

(3) Climate Change
(4)

4 Temper ature Change

URfYE TR F1 U i et afser fasm 1 wen ° fae nfafafirr e @
o ToserEl 9 %1 ST SiEl W Y9 =il

o <o fuser 50 99l @t Oy fOEE F siEwe # gerd | 9y § o1y ufiEdHi w favers

AT

e Y| YT Fgd A9HH % RO 9L 94 |

e T T o IO 9 Tl |

3 ifafafedl % g ag Fe1 § 9 9 9o ) 90 FaEr/aueE =ed § 2

(1) ¥ 238 99E

(2) HrEH giEed

(3) ey giEda

(4) A9HE gREdA

1[Q1u¢[aé,titc_>n |I|; =514 3;]7][Question Description = S1_Social Science_Q077]
2. 2 [Option ID - 546]

3. 3 [Option ID = 547]
4. 4 [Option ID = 548]

48)
At which stage of teaching a teacher will decide about the learning resources to be used
for teaching ?

(1) Pre-active stage
Post-active stage

(SR S

(
(
(

)
) Inter-active stage
)

i

While explaining the concept in the classroom



TorequT o ferd =or O3 Uk AeATgeR foerl & foaiu stavdes Heme |l o faud ov fa=m o ?
(1) ge-HfwEa =

(2) FHR-foran =T

(3)  fd:—Topan =

(4) R H WehHeUAT i HHAM % QA

[Question ID = 138][Question Description = S1_Social Science_Q078]

1. 1 [Option ID = 549]

2. 2 [Option ID = 550]

3. 3 [Option ID = 551]

4. 4 [Option ID = 552]

49) The purpose of probing question in social science is :
(A) To increase number of meaningful questions.
(B) To understand students thinking pattern.
(C) To go deep into pupil’s response.
Choose the correct option.
(1)  Only statement (A) is correct.

(2) Statement (A) and (B) are correct.
(3) Statement (B) and (C) are correct.
(4) Statement (A) and (C) are correct.

(A) Hde YTl i H&A Bl FqQA

(B) feenfefi % Tram & Hef & wugE

(C) Tomnfei=i & 3T &l TRLE | SHT

TE fersreq w1 =9 =i |

(1) el HYF (A) TEl T

(2) FEF (A) R FUF (B) HE F

(3) =¥A (B) ¥R (C) Wéi €1

(4)  F (A) AR (C) TE B
1FQ:1([e;;it?or:] I”[; ==515§;3][Question Description = S1_Social Science_Q079]
2. 2 [Option ID - 554]

3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

50) Tndia’s diverse social context necessitates that social science classrooms nurture :

(1) the views of government only.

(2) the opinion of the majority.
(3) a golden past and avoid/contested topics.
(4) the views of all sections of the larger society.



e fafae amfser devf o sifrard a1 S € T rfse faam =t wand gifva =+
(1) hecd TR 6 gehiv &l
(2)  sAfeeRier @ < femmd =l
(3) @iy sfaer =i wd faanfed fawdl @ s== @ =
(4) & HHS & FHl G 6 G20

1[Q111¢[acs)tit?n I||; =515 :;)][Question Description = S1_Social Science_Q080]

2. 2 [Option ID = 558]

3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

> Choose the correct order of steps for inquiry based learning :
(A) Questioning
(B) Investigating
(C) Planning and Predicting
(D) Recording
(

TS SR TE ¥ e Sl ¥ wE

(A) WA T
(B) = T
(C) Frsil ST 3R STHM SR
(D) Teifen e
(B) f=ea s
forahea -
() (A)-(B)-(Q)-(D)-(E
(2 (A)-(C)-(D)-(B)-(E
3 (©)-(A)-(B)-(D)-(E
4 (B)-(CO)-(A)-(D)-(E)
1[.Q1u¢[acs)lt)lt¢i)or:] I”IZ)) =—516 ;1]1][Quest|on Description = S1_Social Science_Q081]
2. 2 [Option ID = 562]

3. 3 [Option ID = 563]
4. 4 [Option ID = 564]

e



°2) Consider the following statements :
Statement - A :
Social science teaching is a means for inculcating an ideology.
Statement - B :
Pedagogy of social science benefits from thematic planning.
Choose the correct option.
(1)  (A) is true, (B) is false
(2) (A)is false, (B) is true
(3) (A) and (B) are true
(4) (A) and (B) are false

Frfafag waml w fa=r #:i
HIUT - (A) :
IS famm fiem v foamym & e & &1 91eE ¢
YA - (B) :
AT fa= o foen s us § eifeer 21 everds® |
et faenea =1 =29 &1 .
(1) (A)®& T (B) o4 &
(2) (A) T B, (B) WET E
(3) (A) iR (B) 2 WA &
(4)  (A) iz (B) 2HT o ¥
1[Q1m[ecs).Ft)lt¢])0r:] I|I; =516 :]2][Question Description = S1_Social Science_Q082]
2. 2 [Option ID - 56¢]

3. 3 [Option ID = 567]
4. 4 [Option ID = 568]

53)
A social science teacher may give which of the following to explain the condition of women
in the colonial period ?

(A) “Sultana’s dream” written by Rokeya Sakhawat.

(B) Rashsundari Devi’s autobiography “ Amar Jibon”.

(€) “Padhna jara sochna” written by Krishna Kumar.

(D) “The Subaltern subject in structural historical process” by Denzil Saldenha.
Options.
(1)  Only
(2)

(3) Only (B)
(4)



& gt faam = raes, sfafaties e o afgeneti =) oftferf =5 guem & fou frefafaa
o d P WA § 2

(A) ®FT wEmEd gr fafed  gear w1 @’

(B) THEd TS i ST ‘ STHE S’

(C) & HHR g1 faafad ‘gen s |’

(D) ef=ie geea g Hifgd ferae ‘< Hateed gevtae T waae fewifieha uiEm’ |
fawea:

(1) e (A)
(2) e (A) TR (B)
(3) d (B)

(4) e (C) 3R (D)

[Question ID = 143][Question Description = S1_Social Science_Q083]
1. 1 [Option ID = 569]
2. 2 [Option ID = 570]
3. 3 [Option ID = 571]
4. 4 [Option ID = 572]

54)

For teaching the topic “India’s Freedom Movement” a teacher brings some old newspaper

snippets having pictures and stories of partition. Which method is being used by the
teacher ?

(I) Problem solving method

(2) Field survey method
(3) Demeonstration method
(4) Source method

‘R T SAM A U & foae uw erearass fs gere 9l 9RO
TATER T3 i F@ HT e 3T ¢ Fu 39 999 1 andfaes Feifai iR wEms 29 T
sreaTgeh rferfaa & forg foveror fafer =1 wdm s @1 @2
(1) e qaYE fafy
(2) &g weam fafy
(3) vevH fafy
(4) iE fafy
1[Q1u<[eé.ti<_>n |I|; =517 ‘;]4][Question Description = S1_Social Science_Q084]
2. 2 [Option ID = 574]

3. 3 [Option ID = 575]
4. 4 [Option ID = 576]



55) Which statement is not related to project based learning ?
(1) It enhances a conformist approach

(2) It enhances student’s creative skill
(3) It enhances student’s problem solving skills
(4) It enhances student’s inquiry skill

Frefafaa § 9 5 @ wue wfEsm snuafa gy 3 fafs & gefh 8 &)
(1) 8 geyarel gl sl Sewl ¢ |

(2) e faenfefi & =S Siee 1 Fe €

(3) 9 Tomnfeli o wHe THHM HIvE ®l §gh! & |

(4) =& Taenfef=i % ymam Hive # sert 81

[Question ID = 145][Question Description = S1_Social Science_Q085]
1. 1 [Option ID = 577]
2. 2 [Option ID = 578]
3. 3 [Option ID = 579]
4. 4 [Option ID = 580]

56)
A teacher in her classroom provides students the opportunities to assess themselves. Which
of the following assessment practice is she trying to adopt in her class ?

(1) Formative Assessment
(2) Assessment for Learning
(3) Assessment of Learning
(4) Assessment as Learning

e Torfarent wan o faenfa=i = @ &1 e F0 F1 AT YeH Hidl &1 98 = F e
F forg Tl F1 T F WA @ B2
(1) Fad gedih
(2) AferH % forw ke
(3)  AfeRTH R AEREH
(4) =AfeTH o ®9 H AR
[Question ID = 146][Question Description = $1_Social Science_Q086]
2. 2 Option 10 - 32

3. 3 [Option ID = 583]
4. 4 [Option ID = 584]



7). Which of the following should be a criteria for assessment in social science :
(A) Questioning
(B) Concern for justice and equality
(C) Remembering
(D) Cooperation
Choose the correct option.
(1) (A), (B) and (C)

(2) (B), (C) and (D)
(3) (A), (B) and (D)
(4) (A), (C) and (D)
= o 9 o2 wifeies foam | e1eed 1 9 8F1 =fat -
(A) W g
(B) ™ 9 WHMAI aq |
(C) e T@&
(D) w&dm
e foshey 1 e Hife |

(1) (A), (B) 7 (C)
(2 (B), (O 741 (D)

(
(3) (A), (B) 91 (D)
(4) (A), (©) @& (D)

[Question ID = 147][Question Description = S1_Social Science_Q087]
1. 1 [Option ID = 585]

2. 2 [Option ID = 586]

3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

58)
Read the following questions which of them assesses the analytical competencies of the
students ?

(I) Who is Lekhpal ? What are his roles ?

(2) Distinguish between a tropical and temperate regions.
(3) If your home is burgled, where will you go to file a complaint ?
(4) How does a population pyramid point to the quality of health system available in a

particular society ?
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1[Q:J([ecs)tit?n Ilg =51£]8][Question Description = S1_Social Science_Q088]
2. 2 [Option ID = 590]

3. 3 [Option ID = 591]
4. 4 [Option ID = 592]

59)

Which of the following questions assesses the ‘understand” aspect of the cognitive
process ?

(1) Define population explosion.

) List three features that lead to population change.

) How did East India Company bring to an end the Mughal dynasty ?
) If rivers dried up what would happen to human life ?
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1[Q:1?;tign |I|; =519 g;)][Question Description = S1_Social Science_Q089]

2. 2 [Option ID = 594]

3. 3 [Option ID = 595]
4. 4 [Option ID = 596]

60)
Which of the following option is characteristic of a well written learning outcomes ?

(I) The specified action by the students must be related to the context taught in the
classroom.

2)  The specified action by the students must be practical in the classroom.
(3) The specified action by the students must be measurable.

(4) The specified action by the students must be observable, measurable and done by
the students.
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[Question ID = 150][Question Description = S1_Social Science_Q090]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]
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Read the passage given below and answer the question that follow by choosing the
correct options.

1.

Trekking is one of the latest trends in tourism in the world. It is treated primarily as
a modern form of adventure tourism and geo-tourism. On the one hand, due to the
extreme terrain where it can be practiced and a certain dose of adrenaline, is treated
as a form of adventure tourism. The desire to achieve, acquire and reach out to
many of the most difficult places decide on the characteristics of a sports competition

In 1965 the colonial army of colonel Jimmy Roberts introduced the word trekking
into the world tourism vocabulary. As a former officer of the Gurkha force in Nepal
and a representative of the British military government in Kathmandu, he spent
much time wandering in the Himalayas. These were the beginnings of trekking
expeditions.

Although, it seems that in today’s world all the places have already been discovered,
still there may appear new challenges. On the other hand, the beauty of trekking
relies on that it is implemented in an extraordinary and stunning natural and
geological environment. Despite many challenges, tourists are attracted by
geodiversity and fascinating landscapes, changing weather conditions or spiritual
survival. It is often associated only with mountains, but it must be emphasized that
one may distinguish eight types of trekking, these are: mountain, desert, tropical,
glacial, polar, river, swamps and volcanic trekking. All of these allow a person to
come true in very unusual circumstances.

People also discover and learn about their own abilities, both mental and physical.
Modern trekker has many more opportunities of exploration of challenging
environments. Comfortable clothing and equipment ensure a high level of safety.
Adventurers and explorers functioned quite differently for ages, they were
condemned to intuition, and had only to wipe the migratory paths on which a larger
and larger groups of tourists are wandering.

Study the following statements :

(A)

(B)

=

(1)
(2)
(3)

S S

(4)

Trekking in the contemporary world is nothing but a means to satisfy our intense
excitement and stimulation.

Trekking is treated unjustifiably as a modern form of adventure tourism and geo-
tourism.

(A) is correct and (B) is incorrect.
(B) is correct and (A) is incorrect.
Both (A) and (B) are correct.
Both (A) and (B) are incorrect.

[Question ID = 151][Question Description = S1_English Content/Pedagogy_Q091]
1. 1 [Option ID = 601]
2. 2 [Option ID = 602]
3. 3 [Option ID = 603]
4. 4 [Option ID = 604]
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Read the passage given below and answer the question that follow by choosing the
correct options.

1.

Trekking is one of the latest trends in tourism in the world. It is treated primarily as
a modern form of adventure tourism and geo-tourism. On the one hand, due to the
extreme terrain where it can be practiced and a certain dose of adrenaline, is treated
as a form of adventure tourism. The desire to achieve, acquire and reach out to
many of the most difficult places decide on the characteristics of a sports competition

In 1965 the colonial army of colonel Jimmy Roberts introduced the word trekking
into the world tourism vocabulary. As a former officer of the Gurkha force in Nepal
and a representative of the British military government in Kathmandu, he spent
much time wandering in the Himalayas. These were the beginnings of trekking
expeditions.

Although, it seems that in today’s world all the places have already been discovered,
still there may appear new challenges. On the other hand, the beauty of trekking
relies on that it is implemented in an extraordinary and stunning natural and
geological environment. Despite many challenges, tourists are attracted by
geodiversity and fascinating landscapes, changing weather conditions or spiritual
survival. It is often associated only with mountains, but it must be emphasized that
one may distinguish eight types of trekking, these are: mountain, desert, tropical,
glacial, polar, river, swamps and volcanic trekking. All of these allow a person to
come true in very unusual circumstances.

People also discover and learn about their own abilities, both mental and physical.
Modern trekker has many more opportunities of exploration of challenging
environments. Comfortable clothing and equipment ensure a high level of safety.
Adventurers and explorers functioned quite differently for ages, they were
condemned to intuition, and had only to wipe the migratory paths on which a larger
and larger groups of tourists are wandering.

“he spent much time wandering in the Himalayas’. Which word from the following can

replace the underlined word ?

(1)
(2)
(3)
(4)

exploring
dawdling
pursuing
contemplating

[Question ID = 152][Question Description = S1_English Content/Pedagogy_Q092]
1. 1 [Option ID = 605]
2. 2 [Option ID = 606]
3. 3 [Option ID = 607]
4. 4 [Option ID = 608]
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Read the passage given below and answer the question that follow by choosing the
correct options.

1. Trekking is one of the latest trends in tourism in the world. It is treated primarily as
a modern form of adventure tourism and geo-tourism. On the one hand, due to the
extreme terrain where it can be practiced and a certain dose of adrenaline, is treated
as a form of adventure tourism. The desire to achieve, acquire and reach out to
many of the most difficult places decide on the characteristics of a sports competition

2. In 1965 the colonial army of colonel Jimmy Roberts introduced the word trekking
into the world tourism vocabulary. As a former officer of the Gurkha force in Nepal
and a representative of the British military government in Kathmandu, he spent
much time wandering in the Himalayas. These were the beginnings of trekking
expeditions.

3.  Although, it seems that in today’s world all the places have already been discovered,
still there may appear new challenges. On the other hand, the beauty of trekking
relies on that it is implemented in an extraordinary and stunning natural and
geological environment. Despite many challenges, tourists are attracted by
geodiversity and fascinating landscapes, changing weather conditions or spiritual
survival. It is often associated only with mountains, but it must be emphasized that
one may distinguish eight types of trekking, these are: mountain, desert, tropical,
glacial, polar, river, swamps and volcanic trekking. All of these allow a person to
come true in very unusual circumstances.

4.  People also discover and learn about their own abilities, both mental and physical.
Modern trekker has many more opportunities of exploration of challenging
environments. Comfortable clothing and equipment ensure a high level of safety.
Adventurers and explorers functioned quite differently for ages, they were
condemned to intuition, and had only to wipe the migratory paths on which a larger
and larger groups of tourists are wandering.

What is the misconception related to trekking that people have ? That it is only related
to

(I) challenges
(2) geo-diversity
(3) mountains
(4) terrains

[Question ID = 153][Question Description = S1_English Content/Pedagogy_Q093]

1
2
3.
4

. 1 [Option ID = 609]
. 2 [Option ID = 610]
3 [Option ID = 611]
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Read the passage given below and answer the question that follow by choosing the
correct options.

1.

Trekking is one of the latest trends in tourism in the world. It is treated primarily as
a modern form of adventure tourism and geo-tourism. On the one hand, due to the
extreme terrain where it can be practiced and a certain dose of adrenaline, is treated
as a form of adventure tourism. The desire to achieve, acquire and reach out to
many of the most difficult places decide on the characteristics of a sports competition

In 1965 the colonial army of colonel Jimmy Roberts introduced the word trekking
into the world tourism vocabulary. As a former officer of the Gurkha force in Nepal
and a representative of the British military government in Kathmandu, he spent
much time wandering in the Himalayas. These were the beginnings of trekking
expeditions.

Although, it seems that in today’s world all the places have already been discovered,
still there may appear new challenges. On the other hand, the beauty of trekking
relies on that it is implemented in an extraordinary and stunning natural and
geological environment. Despite many challenges, tourists are attracted by
geodiversity and fascinating landscapes, changing weather conditions or spiritual
survival. It is often associated only with mountains, but it must be emphasized that
one may distinguish eight types of trekking, these are: mountain, desert, tropical,
glacial, polar, river, swamps and volcanic trekking. All of these allow a person to
come true in very unusual circumstances.

People also discover and learn about their own abilities, both mental and physical.
Modern trekker has many more opportunities of exploration of challenging
environments. Comfortable clothing and equipment ensure a high level of safety.
Adventurers and explorers functioned quite differently for ages, they were
condemned to intuition, and had only to wipe the migratory paths on which a larger
and larger groups of tourists are wandering.

All of these allow a person to come true in very unusal circumstances. The expression
"allows a person to come true’ here refers to :

come face to face with
come out with his power
bring out his inner vanities
bring out the devil in him

[Question ID = 154][Question Description = S1_English Content/Pedagogy_Q094]
1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3. 3 [Option ID = 615]
4. 4 [Option ID = 616]
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Read the passage given below and answer the question that follow by choosing the
correct options.

1.

Trekking is one of the latest trends in tourism in the world. It is treated primarily as
a modern form of adventure tourism and geo-tourism. On the one hand, due to the
extreme terrain where it can be practiced and a certain dose of adrenaline, is treated
as a form of adventure tourism. The desire to achieve, acquire and reach out to
many of the most difficult places decide on the characteristics of a sports competition

In 1965 the colonial army of colonel Jimmy Roberts introduced the word trekking
into the world tourism vocabulary. As a former officer of the Gurkha force in Nepal
and a representative of the British military government in Kathmandu, he spent
much time wandering in the Himalayas. These were the beginnings of trekking
expeditions.

Although, it seems that in today’s world all the places have already been discovered,
still there may appear new challenges. On the other hand, the beauty of trekking
relies on that it is implemented in an extraordinary and stunning natural and
geological environment. Despite many challenges, tourists are attracted by
geodiversity and fascinating landscapes, changing weather conditions or spiritual
survival. It is often associated only with mountains, but it must be emphasized that
one may distinguish eight types of trekking, these are: mountain, desert, tropical,
glacial, polar, river, swamps and volcanic trekking. All of these allow a person to
come true in very unusual circumstances.

People also discover and learn about their own abilities, both mental and physical.
Modern trekker has many more opportunities of exploration of challenging
environments. Comfortable clothing and equipment ensure a high level of safety.
Adventurers and explorers functioned quite differently for ages, they were
condemned to intuition, and had only to wipe the migratory paths on which a larger
and larger groups of tourists are wandering.

“Trekking in today’s world has become an accepted vacation activity due to :

(
(
(

(4)

D)

(SR LS

its affordability.

the availability of advanced protective gears.
more of physical and mental ability.

more opportunities of spending on adventure.

[Question ID = 155][Question Description = S1_English Content/Pedagogy_Q095]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]
3. 3 [Option ID = 619]
4. 4 [Option ID = 620]
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Read the passage given below and answer the question that follow by choosing the
correct options.

1.

Trekking is one of the latest trends in tourism in the world. It is treated primarily as
a modern form of adventure tourism and geo-tourism. On the one hand, due to the
extreme terrain where it can be practiced and a certain dose of adrenaline, is treated
as a form of adventure tourism. The desire to achieve, acquire and reach out to
many of the most difficult places decide on the characteristics of a sports competition

In 1965 the colonial army of colonel Jimmy Roberts introduced the word trekking
into the world tourism vocabulary. As a former officer of the Gurkha force in Nepal
and a representative of the British military government in Kathmandu, he spent
much time wandering in the Himalayas. These were the beginnings of trekking
expeditions.

Although, it seems that in today’s world all the places have already been discovered,
still there may appear new challenges. On the other hand, the beauty of trekking
relies on that it is implemented in an extraordinary and stunning natural and
geological environment. Despite many challenges, tourists are attracted by
geodiversity and fascinating landscapes, changing weather conditions or spiritual
survival. It is often associated only with mountains, but it must be emphasized that
one may distinguish eight types of trekking, these are: mountain, desert, tropical,
glacial, polar, river, swamps and volcanic trekking. All of these allow a person to
come true in very unusual circumstances.

People also discover and learn about their own abilities, both mental and physical.
Modern trekker has many more opportunities of exploration of challenging
environments. Comfortable clothing and equipment ensure a high level of safety.
Adventurers and explorers functioned quite differently for ages, they were
condemned to intuition, and had only to wipe the migratory paths on which a larger
and larger groups of tourists are wandering.

[t not only gives physical and mental stimulation but also helps in :

(1)
(2)
(3

(4)

psychological growth
sociological strength
physiological rush
biological power

[Question ID = 156][Question Description = S1_English Content/Pedagogy_Q096]
1. 1 [Option ID = 621]
2. 2 [Option ID = 622]
3. 3 [Option ID = 623]
4. 4 [Option ID = 624]
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Read the passage given below and answer the question that follow by choosing the
correct options.

1. Trekking is one of the latest trends in tourism in the world. It is treated primarily as
a modern form of adventure tourism and geo-tourism. On the one hand, due to the
extreme terrain where it can be practiced and a certain dose of adrenaline, is treated
as a form of adventure tourism. The desire to achieve, acquire and reach out to
many of the most difficult places decide on the characteristics of a sports competition

2. In 1965 the colonial army of colonel Jimmy Roberts introduced the word trekking
into the world tourism vocabulary. As a former officer of the Gurkha force in Nepal
and a representative of the British military government in Kathmandu, he spent
much time wandering in the Himalayas. These were the beginnings of trekking
expeditions.

3. Although, it seems that in today’s world all the places have already been discovered,
still there may appear new challenges. On the other hand, the beauty of trekking
relies on that it is implemented in an extraordinary and stunning natural and
geological environment. Despite many challenges, tourists are attracted by
geodiversity and fascinating landscapes, changing weather conditions or spiritual
survival. It is often associated only with mountains, but it must be emphasized that
one may distinguish eight types of trekking, these are: mountain, desert, tropical,
glacial, polar, river, swamps and volcanic trekking. All of these allow a person to
come true in very unusual circumstances.

4.  People also discover and learn about their own abilities, both mental and physical.
Modern trekker has many more opportunities of exploration of challenging
environments. Comfortable clothing and equipment ensure a high level of safety.
Adventurers and explorers functioned quite differently for ages, they were
condemned to intuition, and had only to wipe the migratory paths on which a larger
and larger groups of tourists are wandering.

Find the synonym of the word ‘“intuition” (Para 4) from the list given below :
(1) reasoning
(2) intelligence
(3) instinct
(4) industrious
[Question ID = 157][Question Description = S1_English Content/Pedagogy_Q097]
1. 1 [Option ID = 625]
2. 2 [Option ID = 626]

3. 3 [Option ID = 627]
4. 4 [Option ID = 628]
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Read the passage given below and answer the question that follow by choosing the
correct options.

1. Trekking is one of the latest trends in tourism in the world. It is treated primarily as
a modern form of adventure tourism and geo-tourism. On the one hand, due to the
extreme terrain where it can be practiced and a certain dose of adrenaline, is treated
as a form of adventure tourism. The desire to achieve, acquire and reach out to
many of the most difficult places decide on the characteristics of a sports competition

2. In 1965 the colonial army of colonel Jimmy Roberts introduced the word trekking
into the world tourism vocabulary. As a former officer of the Gurkha force in Nepal
and a representative of the British military government in Kathmandu, he spent
much time wandering in the Himalayas. These were the beginnings of trekking
expeditions.

3. Although, it seems that in today’s world all the places have already been discovered,
still there may appear new challenges. On the other hand, the beauty of trekking
relies on that it is implemented in an extraordinary and stunning natural and
geological environment. Despite many challenges, tourists are attracted by
geodiversity and fascinating landscapes, changing weather conditions or spiritual
survival. It is often associated only with mountains, but it must be emphasized that
one may distinguish eight types of trekking, these are: mountain, desert, tropical,
glacial, polar, river, swamps and volcanic trekking. All of these allow a person to
come true in very unusual circumstances.

4.  People also discover and learn about their own abilities, both mental and physical.
Modern trekker has many more opportunities of exploration of challenging
environments. Comfortable clothing and equipment ensure a high level of safety.
Adventurers and explorers functioned quite differently for ages, they were
condemned to intuition, and had only to wipe the migratory paths on which a larger
and larger groups of tourists are wandering.

Find the antonym of the word ‘condemned” (Para 4) from the list given below :
(1) applauded

(2) denounced

(3) complained

(4) endorsed

[Question ID = 158][Question Description = S1_English Content/Pedagogy_Q098]
1. 1 [Option ID = 629]
2. 2 [Option ID = 630]
3. 3 [Option ID = 631]
4. 4 [Option ID = 632]
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Read the passage given below and answer the question that follow by choosing the
correct options.

1. Trekking is one of the latest trends in tourism in the world. It is treated primarily as
a modern form of adventure tourism and geo-tourism. On the one hand, due to the
extreme terrain where it can be practiced and a certain dose of adrenaline, is treated
as a form of adventure tourism. The desire to achieve, acquire and reach out to
many of the most difficult places decide on the characteristics of a sports competition

2. In 1965 the colonial army of colonel Jimmy Roberts introduced the word trekking
into the world tourism vocabulary. As a former officer of the Gurkha force in Nepal
and a representative of the British military government in Kathmandu, he spent
much time wandering in the Himalayas. These were the beginnings of trekking
expeditions.

3. Although, it seems that in today’s world all the places have already been discovered,
still there may appear new challenges. On the other hand, the beauty of trekking
relies on that it is implemented in an extraordinary and stunning natural and
geological environment. Despite many challenges, tourists are attracted by
geodiversity and fascinating landscapes, changing weather conditions or spiritual
survival. It is often associated only with mountains, but it must be emphasized that
one may distinguish eight types of trekking, these are: mountain, desert, tropical,
glacial, polar, river, swamps and volcanic trekking. All of these allow a person to
come true in very unusual circumstances.

4.  People also discover and learn about their own abilities, both mental and physical.
Modern trekker has many more opportunities of exploration of challenging
environments. Comfortable clothing and equipment ensure a high level of safety.
Adventurers and explorers functioned quite differently for ages, they were
condemned to intuition, and had only to wipe the migratory paths on which a larger
and larger groups of tourists are wandering.

‘he spent much time...", Which part of speech does ‘much’ belong to ?

(1) Pronoun

(2) Preposition

(3) Conjunction

(4) Adjective
[Question ID = 159][Question Description = S1_English Content/Pedagogy_Q099]
1. 1 [Option ID = 633]
2. 2 [Option ID = 634]

3. 3 [Option ID = 635]
4. 4 [Option ID = 636]
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1 Read the poem given below and answer the question that follow :
And you feel so alone,
when the rain doesn’t stop
And you can’t make it home,
When it feels all is lost
And you just want to run,
It can’t rain forever.
Just wait for the sun.

When family is pain,

When friends can’t be found,
When you just want to scream
But you can’t find the sound,
When it's all your fault,

And you feel like you're done,
Just wait for the sun.

The sunshine will come.

Dark clouds always pass.

I promise you, hun.

We're all waiting with you.
Just wait for the sun.

Identify the poetic device in the given line.
When ﬁlmily is pain,

(1) Metaphor

(2) Alliteration

(3) Onomatopoeia

(4) Simile

[Question ID = 160][Question Description = S1_English Content/Pedagogy_Q100]
1. 1 [Option ID = 637]
2. 2 [Option ID = 638]
3. 3 [Option ID = 639]
4. 4 [Option ID = 640]



2) Read the poem given below and answer the question that follow :
And you feel so alone,
when the rain doesn’t stop
And you can’t make it home,
When it feels all is lost
And you just want to run,
It can’t rain forever.
Just wait for the sun.

When family is pain,

When friends can’t be found,
When you just want to scream
But you can’t find the sound,
When it’s all your fault,

And you feel like you're done,
Just wait for the sun.

The sunshine will come.

Dark clouds always pass.

I promise you, hun.

We're all waiting with you.
Just wait for the sun.

The poem deals with the spirit of :

(1) optimism

(2) pessimism

(3) curiosity

(4) relationship
[Question ID = 161][Question Description = S1_English Content/Pedagogy_Q101]
1 [Option ID = 641]
2 [Option ID = 642]

3 [Option ID = 643]
4 [Option ID = 644]
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3) Read the poem given below and answer the question that follow :

And you feel so alone,

when the rain doesn’t stop
And you can’t make it home,
When it feels all is lost

And you just want to run,

It can’t rain forever.

Just wait for the sun.

When family is pain,

When friends can’t be found,
When you just want to scream
But you can’t find the sound,
When it’s all your fault,

And you feel like you're done,
Just wait for the sun.

The sunshine will come.

Dark clouds always pass.

I promise you, hun.

We're all waiting with you.
Just wait for the sun.

What does the phrase “dark clouds” stand for ?
(1) Ilness

(2) I fortune

(3) Storm

(4) Downpour

[Question ID = 162][Question Description = S1_English Content/Pedagogy_Q102]
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4 Read the poem given below and answer the question that follow :
And you feel so alone,
when the rain doesn’t stop
And you can’t make it home,
When it feels all is lost
And you just want to run,
It can’t rain forever.
Just wait for the sun.

When family is pain,

When friends can’t be found,
When you just want to scream
But you can’t find the sound,
When it’s all your fault,

And you feel like you're done,
Just wait for the sun.

The sunshine will come.

Dark clouds always pass.

I promise you, hun.

We're all waiting with you.
Just wait for the sun.

When you are done means

(1) exerted

(2) existed

(3) exhausted

(4) exposed
[Question ID = 163][Question Description = S1_English Content/Pedagogy_Q103]
1 [Option ID = 649]
2 [Option ID = 650]

3 [Option ID = 651]
4 [Option ID = 652]
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®) Read the poem given below and answer the question that follow :
And you feel so alone,
when the rain doesn’t stop
And you can’t make it home,
When it feels all is lost
And you just want to run,
It can’t rain forever.
Just wait for the sun.

When family is pain,

When friends can’t be found,
When you just want to scream
But you can’t find the sound,
When it's all your fault,

And you feel like you're done,
Just wait for the sun.

The sunshine will come.

Dark clouds always pass.

I promise you, hun.

We're all waiting with you.
Just wait for the sun.

Which of the following expressions can be attributed as slang ?
(1) Please wait for the sun
(2) warm up your soul like the sunshine.
(3) Dark clouds always pass.
(4) I promise you, hun.
[Question ID = 164][Question Description = S1_English Content/Pedagogy_Q104]
1 [Option ID = 653]
2 [Option ID = 654]

3 [Option ID = 655]
4 [Option ID = 656]
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) Read the poem given below and answer the question that follow :
And you feel so alone,
when the rain doesn’t stop
And you can’t make it home,
When it feels all is lost
And you just want to run,
It can’t rain forever.
Just wait for the sun.

When family is pain,

When friends can’t be found,
When you just want to scream
But you can't find the sound,
When it's all your fault,

And you feel like you're done,
Just wait for the sun.

The sunshine will come.

Dark clouds always pass.

[ promise you, hun.

We're all waiting with you.
Just wait for the sun.

[t can’t rain forever.
Just wait for the sun.
What do the words ‘rain” and ‘sun’ symbolize here ?
(1) trouble; bliss
(2) obstacles; melancholy
(3) Dblessings; contentment
(4) complications; despair
[Question ID = 165][Question Description = S1_English Content/Pedagogy_Q105]
1 [Option ID = 657]
2 [Option ID = 658]

3 [Option ID = 659]
. 4 [Option ID = 660]

A wN =

Topic:- ENG_Q106-120_L1_P2_CTET

1)



As a post reading task of the poem “The Leaf” the teacher of class 7 asked the students to
make pictures of different animals using dry leaves. She is :
(1) engaging students in some activity to finish her task
(2) integrating language with art
(3) trying to develop the fine motor skills of students
(4) integrating language with animals
[Question ID = 166][Question Description = S1_English Content/Pedagogy_Q106]
1. 1 [Option ID = 661]
2. 2 [Option ID = 662]
3. 3 [Option ID = 663]
4. 4 [Option ID = 664]
2) Indian classrooms are multilingual in nature. This must be used as a resource so that :
(1) every child learns in the same way
(2) children are aware of many languages
(3) the teacher develops proficiency in different languages
(4) every child feels secure and accepted
[Question ID = 167][Question Description = S1_English Content/Pedagogy_Q107]
. 1 [Option ID = 665]
. 2 [Option ID = 666]

. 3 [Option ID = 667]
. 4 [Option ID = 668]

AW N =

3) Intensive reading strategy focusses on :
(1) reading a text for pleasure
(2) reading a text for detailed information
(3) reading a text for overall understanding
(4) reading a text for others
[Question ID = 168][Question Description = S1_English Content/Pedagogy_Q108]
1 [Option ID = 669]
2 [Option ID = 670]

3 [Option ID = 671]
. 4 [Option ID = 672]

A wN =

4 Complete the following statement by choosing the best option.
Picture reading can be a valuable resource for emergent readers as
(1) it provides important cues about what is happening in the story
(2) it helps them in improving their handwriting
(3) it makes them confident and good writer
(4) it makes them auditory learner

[Question ID = 169][Question Description = S1_English Content/Pedagogy_Q109]

. 1 [Option ID = 673]

. 2 [Option ID = 674]

1
2

3. 3 [Option ID = 675]
4. 4 [Option ID = 676]



) An effective paragraph writing involves :
(1) legible and good handwriting
(2) difficult words in the content
(3) ideas, presentation and coherence
(4) flowery language to engage learners
[Question ID = 170][Question Description = S1_English Content/Pedagogy_Q110]
1. 1 [Option ID = 677]
2. 2 [Option ID = 678]

3. 3 [Option ID = 679]
4. 4 [Option ID = 680]

6)
Small children love to move pencil or crayons in to and fro position on any surface. This
is called :
(1) Invented writing
(2) Contemporary writing
(3) Scribbling
(4) Zig-zag writing
[Question ID = 171][Question Description = S1_English Content/Pedagogy_Q111]
1. 1 [Option ID = 681]
2. 2 [Option ID = 682]
3. 3 [Option ID = 683]
4. 4 [Option ID = 684]
7). Whole language approach means :
(1) breaking words into letters and combinations of letters
(2) establishing letter sound association
(3) looking at words as whole pieces of language
(4) focussing on phonics
[Question ID = 172][Question Description = S1_English Content/Pedagogy_Q112]
1. 1 [Option ID = 685]
2. 2 [Option ID = 686]

3. 3 [Option ID = 687]
4. 4 [Option ID = 688]

8;3& teacher uses child’s native language as medium of instruction for teaching the target
language. She is using :

(1) Grammar translation method

(2) Direct method

(3) Structural approach

(4) Communicative approach

[Question ID = 173][Question Description = S1_English Content/Pedagogy_Q113]
1. 1 [Option ID = 689]
2. 2 [Option ID = 690]
3. 3 [Option ID = 691]
4. 4 [Option ID = 692]



9)

Listening is the ability to and appropriately respond to the meaning of another
person’s spoken and non-verbal messages.
(1) memorize and understand
(2) understand and analyze
(3) judge and analyze
(4) judge and synthesize
[Question ID = 174][Question Description = S1_English Content/Pedagogy_Q114]
1. 1 [Option ID = 693]
2. 2 [Option ID = 694]

3. 3 [Option ID = 695]
4. 4 [Option ID = 696]

1‘.(;\)]}111*11 is the most useful term for describing the linguistic input to the language acquisition?
(1) caregiver speech

(2) child-directed speech

(3) infant-directed speech

(4) mother and child communication at the initial stage

[Question ID = 175][Question Description = S1_English Content/Pedagogy_Q115]
1. 1 [Option ID = 697]
2. 2 [Option ID = 698]
3. 3 [Option ID = 699]
4. 4 [Option ID = 700]
11)
If a child during his early years lives in an environment with very little or no exposure of
language their language development is very limited. Which of the following supports
the above statement?
(1) problem of syntax
(2) problem of semantics of language
(3) sensitive periods of development
(4) theory of nativism

[Question ID = 176][Question Description = S1_English Content/Pedagogy_Q116]
1. 1 [Option ID = 701]
2. 2 [Option ID = 702]
3. 3 [Option ID = 703]
4. 4 [Option ID = 704]

2) Which of the following is NOT a subskill of reading ?
(1) Making connections
(2) Prediction
(3) Transcription
(4) Comprehension
[Question ID = 177][Question Description = S1_English Content/Pedagogy_Q117]
1. 1 [Option ID = 705]

2. 2 [Option ID = 706]
3. 3 [Option ID = 707]



4. 4 [Option ID = 708]

13)
A teacher believes that students must be given a plenty of comprehensible input as it will
facilitate the acquisition of language. This belief of the teacher is related to :
(1) Vygotsky’s socio-cultural theory
(2) Piaget’s theory of cognitive development
(3) Skinner’s theory of behaviorism
(4) Stephen Krashen’'s theory of language acquisition
[Question ID = 178][Question Description = S1_English Content/Pedagogy_Q118]
1. 1 [Option ID = 709]
2. 2 [Option ID = 710]
3. 3 [Option ID = 711]
4. 4 [Option ID = 712]
'Y Which one of the following is the characteristic of a constructivist classroom ?
(1)  Children are interacting in groups and class is little noisy
(2) Children are noting down the answers written on board in good handwriting
(3) Children are listening attentively to the teachers
(4) Children are taught by experienced teachers.
[Question ID = 179][Question Description = S1_English Content/Pedagogy_Q119]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]
3. 3 [Option ID = 715]
4. 4 [Option ID = 716]
15 The idea of language relativity is supported by the view that :
(1) Language reflects rather than determines our thinking and perceptions
(2) Language and culture are separate and independent
(3) Language determines the way we think about and perceive the world
(4) Language has no role in shaping the thoughts
[Question ID = 180][Question Description = S1_English Content/Pedagogy_Q120]
1 [Option ID = 717]
2 [Option ID = 718]

3 [Option ID = 719]
. 4 [Option ID = 720]

A wN =

Topic:- HIN_Q121-128_L2_P2_CTET

1)
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THITSTT |

SRR AT 9% I Uh el ¢ | o9 foraen 2R Tew #¥d €, 30 Uiftes o urd 78] #d dfesh
ST €1 T &, TSI eTaTge e W= Wehd € | STE H U e YOTTel gerel 9o SIfeRE € S €,
a8 YRR § 5 %1 gfg T S § | IR 1 gaa 81 59 a2 W gE § e | diftes aea)
1 39 & T & Afes T greA-os o1 furferer weAr off ¥ U Sl oy e i srayeerar a8
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1% TEeN TE Aft 1 srgve i e S A frg fem ® o svame # frefer wfat sed )

gelel B T HRI T -

(1) ¥ AEH 9eH HE
(2) G- B HHSI BT
(3) Afeer gftg| T

(4) S 1 TEIER FH BT

[Question ID = 601][Question Description = S1_Hindi Content/Pedagogy_Q121]
1. 1 [Option ID = 2401]
2. 2 [Option ID = 2402]
3. 3 [Option ID = 2403]
4. 4 [Option ID = 2404]

2)

few T ey Wt SAYE Ul AT U T WS o 39T o foTe Hed SuEe faeshed @t wee
SHITeTT |

STER T U9 dcd U 781 & | €9 fSian TR T80 #d €, 3a- Uiftes 7 g 78] &id afcsh
ST €1 UTel €, TS AT e T Wehd § | e S TE UrE YOI gerel 9o VIR 8 S §,
da YR H g5 =i gfg T Sl ¥ 1 KR 1 gad 21 36 924 o H9E § 5 AIeE § diftes dw
&1 S B AE & Afosh gHR grEA—ds 1 furferer v ot &1 UH S 1 S o sqayhd T8
afeeh ST e UE 9T T3 1 31 TEH i @I © | Afg I3 S 8 9 o 959 ser §
1% TEeT TEl 2ft 1 srgve iR e S A frg fen ® fop svame # frafer wfmt sed )

T o SR Heifee Heceyol # 8 7
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(2) e A1 o YA WAl

(3) gTHAYHF JER BV HTAl

(4) difes SRR TR FE
[Question ID = 602][Question Description = S1_Hindi Content/Pedagogy_Q122]
1. 1 [Option ID = 2405]
2. 2 [Option ID = 2406]

3. 3 [Option ID = 2407]
4. 4 [Option ID = 2408]

3)
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THITST |
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a8 YRR § TS %1 gfg T S § | IR 1 gaa 81 59 a2 W gEE § e o diftes a8
1 39 & T & Afes T greA-os o1 furferer weAr off ¥ U Sl oy e i srayeerar a8
afceh ST e UE =T T 1 31 WA Hi AEvIEd © | Afg I3 3 8 9 o 959 sgr |
1% TEeN TE Aft 1 srgve i e S A frg fem ® o svame # frefer wfat sed )
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[Question ID = 603][Question Description = S1_Hindi Content/Pedagogy_Q123]
1. 1 [Option ID = 2409]
2. 2 [Option ID = 2410]
3. 3 [Option ID = 2411]
4. 4 [Option ID = 2412]

4)
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SHITeTT |

STER T U9 dcd U 781 & | €9 fSian TR T80 #d €, 3a- Uiftes 7 g 78] &id afcsh
ST €1 UTel €, TS AT e T Wehd § | e S TE UrE YOI gerel 9o VIR 8 S §,
da YR H g5 =i gfg T Sl ¥ 1 KR 1 gad 21 36 924 o H9E § 5 AIeE § diftes dw
&1 S B AE & Afosh gHR grEA—ds 1 furferer v ot &1 UH S 1 S o sqayhd T8
afeeh ST e UE 9T T3 1 31 TEH i @I © | Afg I3 S 8 9 o 959 ser §
1% TEeT TEl 2ft 1 srgve iR e S A frg fen ® fop svame # frafer wfmt sed )
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[Question ID = 604][Question Description = S1_Hindi Content/Pedagogy_Q124]
1. 1 [Option ID = 2413]
2. 2 [Option ID = 2414]

3. 3 [Option ID = 2415]
4. 4 [Option ID = 2416]

5)
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ST €1 T &, TSI eTaTge e W= Wehd € | STE H U e YOTTel gerel 9o SIfeRE € S €,
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1 39 & T & Afes T greA-os o1 furferer weAr off ¥ U Sl oy e i srayeerar a8
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[Question ID = 605][Question Description = S1_Hindi Content/Pedagogy_Q125]
1. 1 [Option ID = 2417]
2. 2 [Option ID = 2418]
3. 3 [Option ID = 2419]
4. 4 [Option ID = 2420]

6)
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&1 S B AE & Afosh gHR grEA—ds 1 furferer v ot &1 UH S 1 S o sqayhd T8
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1% TEeT TEl 2ft 1 srgve iR e S A frg fen ® fop svame # frafer wfmt sed )
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(4) HIHAES® S AT

[Question ID = 606][Question Description = S1_Hindi Content/Pedagogy_Q126]
1. 1 [Option ID = 2421]
2. 2 [Option ID = 2422]
3. 3 [Option ID = 2423]
4. 4 [Option ID = 2424]
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ST €1 T &, TSI eTaTge e W= Wehd € | STE H U e YOTTel gerel 9o SIfeRE € S €,
a8 YRR § 5 %1 gfg T S § | IR 1 gaa 81 59 a2 W gE § e | diftes aea)
1 39 & T & Afes T greA-os o1 furferer weAr off ¥ U Sl oy e i srayeerar a8
afceh ST e UE =T T 1 31 WA Hi AEvIEd © | Afg I3 3 8 9 o 959 sgr |
1% TEeN TE Aft 1 srgve i e S A frg fem ® o svame # frefer wfat sed )
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(1) @R
2) difes
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(4) gye

[Question ID = 607][Question Description = S1_Hindi Content/Pedagogy_Q127]
1. 1 [Option ID = 2425]
2. 2 [Option ID = 2426]
3. 3 [Option ID = 2427]
4. 4 [Option ID = 2428]

8)
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1% TEeT TEl 2ft 1 srgve iR e S A frg fen ® fop svame # frafer wfmt sed )
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[Question ID = 608][Question Description = S1_Hindi Content/Pedagogy_Q128]
1. 1 [Option ID = 2429]
2. 2 [Option ID = 2430]
3. 3 [Option ID = 2431]
4. 4 [Option ID = 2432]

Topic:- HIN_Q129-135_L2_P2_CTET
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[Question ID = 609][Question Description = S1_Hindi Content/Pedagogy_Q129]
1. 1 [Option ID = 2433]
2. 2 [Option ID = 2434]
3. 3 [Option ID = 2435]
4. 4 [Option ID = 2436]

2)
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[Question ID = 610][Question Description = S1_Hindi Content/Pedagogy_Q130]
1. 1 [Option ID = 2437]
2. 2 [Option ID = 2438]
3. 3 [Option ID = 2439]
4. 4 [Option ID = 2440]
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[Question ID = 611][Question Description = S1_Hindi Content/Pedagogy_Q131]
1. 1 [Option ID = 2441]
2. 2 [Option ID = 2442]
3. 3 [Option ID = 2443]
4. 4 [Option ID = 2444]
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[Question ID = 612][Question Description = S1_Hindi Content/Pedagogy_Q132]
1. 1 [Option ID = 2445]
2. 2 [Option ID = 2446]
3. 3 [Option ID = 2447]
4. 4 [Option ID = 2448]



5)
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[Question ID = 613][Question Description = S1_Hindi Content/Pedagogy_Q133]
1. 1 [Option ID = 2449]
2. 2 [Option ID = 2450]
3. 3 [Option ID = 2451]
4. 4 [Option ID = 2452]

6)
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[Question ID = 614][Question Description = S1_Hindi Content/Pedagogy_Q134]
1. 1 [Option ID = 2453]
2. 2 [Option ID = 2454]
3. 3 [Option ID = 2455]



4. 4 [Option ID = 2456]
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[Question ID = 615][Question Description = S1_Hindi Content/Pedagogy_Q135]
1. 1 [Option ID = 2457]
2. 2 [Option ID = 2458]
3. 3 [Option ID = 2459]
4. 4 [Option ID = 2460]

Topic:- HIN_Q136-150_L2_P2_CTET
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[Question ID = 616][Question Description = S1_Hindi Content/Pedagogy_Q136]
1. 1 [Option ID = 2461]
2. 2 [Option ID = 2462]
3. 3 [Option ID = 2463]
4. 4 [Option ID = 2464]



? frefafes § 9 FH-91 734 & foru gaifaes v 22
(1) 9 Hodi %1 femifen = 8
(2) ST ST 9% W Hel Tk § ISRA HE §
(3) TS WIgd I H TSI §
(4) USA UG TR HI AT F AR HEAE

[Question ID = 617][Question Description = S1_Hindi Content/Pedagogy_Q137]
1. 1 [Option ID = 2465]
2. 2 [Option ID = 2466]
3. 3 [Option ID = 2467]
4. 4 [Option ID = 2468]
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[Question ID = 618][Question Description = S1_Hindi Content/Pedagogy_Q138]
1. 1 [Option ID = 2469]
2. 2 [Option ID = 2470]
3. 3 [Option ID = 2471]
4. 4 [Option ID = 2472]
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[Question ID = 619][Question Description = S1_Hindi Content/Pedagogy_Q139]
1. 1 [Option ID = 2473]
2. 2 [Option ID = 2474]

3. 3 [Option ID = 2475]
4. 4 [Option ID = 2476]
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[Question ID = 620][Question Description = S1_Hindi Content/Pedagogy_Q140]
1. 1 [Option ID = 2477]
2. 2 [Option ID = 2478]

3. 3 [Option ID = 2479]
4. 4 [Option ID = 2480]
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[Question ID = 621][Question Description = S1_Hindi Content/Pedagogy_Q141]
1. 1 [Option ID = 2481]
2. 2 [Option ID = 2482]
3. 3 [Option ID = 2483]
4. 4 [Option ID = 2484]
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[Question ID = 622][Question Description = S1_Hindi Content/Pedagogy_Q142]
1. 1 [Option ID = 2485]
2. 2 [Option ID = 2486]
3. 3 [Option ID = 2487]
4. 4 [Option ID = 2488]
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[Question ID = 623][Question Description = S1_Hindi Content/Pedagogy_Q143]
1. 1 [Option ID = 2489]
2. 2 [Option ID = 2490]
3. 3 [Option ID = 2491]
4. 4 [Option ID = 2492]
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[Question ID = 624][Question Description = S1_Hindi Content/Pedagogy_Q144]
1. 1 [Option ID = 2493]
2. 2 [Option ID = 2494]
3. 3 [Option ID = 2495]
4. 4 [Option ID = 2496]
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[Question ID = 625][Question Description = S1_Hindi Content/Pedagogy_Q145]
1. 1 [Option ID = 2497]
2. 2 [Option ID = 2498]
3. 3 [Option ID = 2499]
4. 4 [Option ID = 2500]
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[Question ID = 626][Question Description = S1_Hindi Content/Pedagogy_Q146]
1. 1 [Option ID = 2501]
2. 2 [Option ID = 2502]
3. 3 [Option ID = 2503]
4. 4 [Option ID = 2504]
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[Question ID = 627][Question Description = S1_Hindi Content/Pedagogy_Q147]
1. 1 [Option ID = 2505]
2. 2 [Option ID = 2506]
3. 3 [Option ID = 2507]
4. 4 [Option ID = 2508]
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[Question ID = 628][Question Description = S1_Hindi Content/Pedagogy_Q148]

1. 1 [Option ID = 2509]

2. 2 [Option ID = 2510]

3. 3 [Option ID = 2511]
4. 4 [Option ID = 2512]
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[Question ID = 629][Question Description = S1_Hindi Content/Pedagogy_Q149]
1. 1 [Option ID = 2513]
2. 2 [Option ID = 2514]
3. 3 [Option ID = 2515]
4. 4 [Option ID = 2516]
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[Question ID = 630][Question Description = S1_Hindi Content/Pedagogy_Q150]
1. 1 [Option ID = 2517]
2. 2 [Option ID = 2518]
3. 3 [Option ID = 2519]
4. 4 [Option ID = 2520]






